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Answer the following

1.Consider the following program
main()
{
int a[5]={1,3,6,7,0};
int *b;
b=&a[2];
}
The value of b[-1] is
(a) 1 (b) 3 (c) -6 (d) none


2. # define prod(a,b)=a*b
main()
{
int x=2;
int y=3; 
printf("%d",prod(x+2,y-10)); 
}
the output of the program is 
(a) 8 (b) 6 (c) 7 (d) None


3.Consider the following program segment
int n,sum=1;
switch(n)
{
case 2:sum=sum+2;
case 3:sum*=2;
break;
default:sum=0;
}
If n=2, what is the value of sum
(a) 0 (b) 6 (c) 3 (d) None of these


4. Identify the incorrect one
1.if(c=1)
2.if(c!=3)
3.if(a 4.if(c==1)
(a) 1 only (b) 1&3 (c) 3 only (d) All of the above


Find the o/p of the following code



1)What will print out?


main() 
{ 
char *p1="name"; 
char *p2; 
p2=(char*)malloc(20); 
memset (p2, 0, 20); 
while(*p2++ = *p1++); 
printf("%s\n",p2); 




}




2)What will be printed as the result of the operation below:



main() 
{ 
int x=20,y=35; 
x=y++ + x++; 
y= ++y + ++x; 
printf("%d ,%d \n",x,y);


} 






3)What will be printed as the result of the operation below:


main() 
{ 
int x=5; 
printf("%d ,%d,%d \n",x,x< <2,x>>2);


}






4)What will be printed as the result of the operation below:



#define swap(a,b) a=a+b;b=a-b;a=a-b; 


void main()
{ 
int x=5, y=10; 
swap (x,y); 
printf("%d ,%d \n",x,y); 
swap2(x,y); 
printf("%d ,%d \n",x,y); 
} 


int swap2(int a, int b) 
{ 
int temp; 
temp=a; 
b=a; 
a=temp; 
return 0; 


}

	


	
	


C Contest 9 

« on: September 14, 2006, 09:19:53 AM »



FOR MORE & MORE TECHNICAL INTERVIEW QUESTIONS …, Join Our Group now
http://finance.groups.yahoo.com/group/careerenclave/


Answer the following

1) main()
{
int a[10];
printf("%d",*a+1-*a+3);
}

2) #define prod(a,b) a*b
main() 
{
int x=3,y=4;
printf("%d",prod(x+2,y-1));
}

3) main()
{
unsigned int i=65000;
while(i++!=0);
printf("%d",i);
}


4) main()
{
int i=0;
while(+(+i--)!=0)
i-=i++;
printf("%d",i);
}

5) main()
{
float f=5,g=10;
enum{i=10,j=20,k=50};
printf("%d\n",++k);
printf("%f\n",f<<2);
printf("%lf\n",f%g);
printf("%lf\n",fmod(f,g)); 
}







1)Answer:[/i][/b]4

Explanation:[/i][/b]

*a and -*a cancels out. The result
is as simple as 1 + 3 = 4 ! 


2)Answer:[/i][/b]10

Explanation:

[/i][/b]The macro expands and evaluates to
as:

x+2*y-1 => x+(2*y)-1 => 10


3)Answer:[/i][/b] 1

Explanation:[/i][/b]Note the
semicolon after the while statement. When the value of i becomes 0 it comes out
of while loop. Due to post-increment on i the value of i while printing is 1.


4)Answer:[/i][/b]

-1

Explanation:[/i][/b]Unary + is the only dummy operator in C[/i].
So it has no effect on the expression and now the while loop is, while(i--!=0) which is false and so breaks out
of while loop. The value –1 is printed due to the post-decrement operator.


5)Answer:[/i][/b]

Line
no 5: Error: Lvalue required

Line
no 6: Cannot apply leftshift to float











Line
no 7: Cannot apply mod to float

Explanation:[/i][/b]

Enumeration constants cannot be
modified, so you cannot apply ++.

Bit-wise operators and % operators
cannot be applied on float values.

fmod() is to find the modulus values
for floats as % operator is for ints.

	


Answer the following

1.Consider the following program
main()
{
int a[5]={1,3,6,7,0};
int *b;
b=&a[2];
}
The value of b[-1] is
(a) 1 (b) 3 (c) -6 (d) none


2. # define prod(a,b)=a*b
main()
{
int x=2;
int y=3; 
printf("%d",prod(x+2,y-10)); 
}
the output of the program is 
(a) 8 (b) 6 (c) 7 (d) None


3.Consider the following program segment
int n,sum=1;
switch(n)
{
case 2:sum=sum+2;
case 3:sum*=2;
break;
default:sum=0;
}
If n=2, what is the value of sum
(a) 0 (b) 6 (c) 3 (d) None of these


4. Identify the incorrect one
1.if(c=1)
2.if(c!=3)
3.if(a 4.if(c==1)
(a) 1 only (b) 1&3 (c) 3 only (d) All of the above
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1)What will print out?


main() 
{ 
char *p1="name"; 
char *p2; 
p2=(char*)malloc(20); 
memset (p2, 0, 20); 
while(*p2++ = *p1++); 
printf("%s\n",p2); 




}




2)What will be printed as the result of the operation below:



main() 
{ 
int x=20,y=35; 
x=y++ + x++; 
y= ++y + ++x; 
printf("%d ,%d \n",x,y);


} 






3)What will be printed as the result of the operation below:


main() 
{ 
int x=5; 
printf("%d ,%d,%d \n",x,x< <2,x>>2);


}






4)What will be printed as the result of the operation below:



#define swap(a,b) a=a+b;b=a-b;a=a-b; 


void main()
{ 
int x=5, y=10; 
swap (x,y); 
printf("%d ,%d \n",x,y); 
swap2(x,y); 
printf("%d ,%d \n",x,y); 
} 


int swap2(int a, int b) 
{ 
int temp; 
temp=a; 
b=a; 
a=temp; 
return 0; 


}
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Answer the following

1) main()
{
int a[10];
printf("%d",*a+1-*a+3);
}

2) #define prod(a,b) a*b
main() 
{
int x=3,y=4;
printf("%d",prod(x+2,y-1));
}

3) main()
{
unsigned int i=65000;
while(i++!=0);
printf("%d",i);
}


4) main()
{
int i=0;
while(+(+i--)!=0)
i-=i++;
printf("%d",i);
}

5) main()
{
float f=5,g=10;
enum{i=10,j=20,k=50};
printf("%d\n",++k);
printf("%f\n",f<<2);
printf("%lf\n",f%g);
printf("%lf\n",fmod(f,g)); 
}







1)Answer:4

Explanation:

*a and -*a cancels out. The result
is as simple as 1 + 3 = 4 ! 


2)Answer:10

Explanation:

The macro expands and evaluates to
as:

x+2*y-1 => x+(2*y)-1 => 10


3)Answer: 1

Explanation:Note the
semicolon after the while statement. When the value of i becomes 0 it comes out
of while loop. Due to post-increment on i the value of i while printing is 1.


4)Answer:

-1

Explanation:Unary + is the only dummy operator in C[/i].
So it has no effect on the expression and now the while loop is, while(i--!=0) which is false and so breaks out
of while loop. The value –1 is printed due to the post-decrement operator.


5)Answer:

Line
no 5: Error: Lvalue required

Line
no 6: Cannot apply leftshift to float











Line
no 7: Cannot apply mod to float

Explanation:

Enumeration constants cannot be
modified, so you cannot apply ++.

Bit-wise operators and % operators
cannot be applied on float values.

fmod() is to find the modulus values
for floats as % operator is for ints.
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Find the output for the following

1) main( )
{
inta[2][3][2]= {{{2,4},{7,8},{3,4}},{{2,2},{2,3},{3,4}}};
printf(“%u %u %u %d \n”,a,*a,**a,***a);
printf(“%u %u %u %d \n”,a+1,*a+1,**a+1,***a+1);
}

<!--[if !supportEmptyParas]--><!--[endif]-->
2) main( )
{
int a[ ] = {10,20,30,40,50},j,*p;
for(j=0; j<5; j++)
{
printf(“%d” ,*a); 
a++;
}
p = a;
for(j=0; j<5; j++) 
{
printf(“%d ” ,*p); 
p++;
}
}

<!--[endif]-->
3) main( )
{
static int a[ ] = {0,1,2,3,4};
int *p[ ] = {a,a+1,a+2,a+3,a+4};
int **ptr = p;
ptr++;
printf(“\n %d %d %d”, ptr-p, *ptr-a, **ptr); 
*ptr++;
printf(“\n %d %d %d”, ptr-p, *ptr-a, **ptr); 
*++ptr;
printf(“\n %d %d %d”, ptr-p, *ptr-a, **ptr); 
++*ptr;
printf(“\n %d %d %d”, ptr-p, *ptr-a, **ptr); 
}

<!--[endif]-->
4) main( )
{
char *q;
int j;
for (j=0; j<3; j++) scanf(“%s” ,(q+j));
for (j=0; j<3; j++) printf(“%c” ,*(q+j));
for (j=0; j<3; j++) printf(“%s” ,(q+j));
}


5) main( )
{
void *vp;
char ch = ‘g’, *cp = “goofy”;
int j = 20;
vp = &ch;
printf(“%c”, *(char *)vp);
vp = &j;
printf(“%d”,*(int *)vp);
vp = cp;
printf(“%s”,(char *)vp + 3);
}

<!--[if !supportEmptyParas]--><!--[endif]-->
6) main ( )
{
static char *s[ ] = {“black”, “white”, “yellow”, “violet”};
char **ptr[ ] = {s+3, s+2, s+1, s}, ***p;
p = ptr;
**++p;
printf(“%s”,*--*++p + 3);
}
NOTE * please do not copy & paste answers from other site. It leads to banning of your user name





1)Answer:
100, 100, 100, 2
114, 104, 102, 3
Explanation:
The given array is a 3-D one. It can also be viewed as a 1-D array.
247834222&nb sp;334
100 102 104 106 108 110 112 114 116 118 120 122


thus, for the first printf statement a, *a, **a give address of first element . since the indirection ***a gives the value. Hence, the first line of the output.
for the second printf a+1 increases in the third dimension thus points to value at 114, *a+1 increments in second dimension thus points to 104, **a +1 increments the first dimension thus points to 102 and ***a+1 first gets the value at first location and then increments it by 1. Hence, the output.


2)Answer:
Compiler error: lvalue required.

Explanation:
Error is in line with statement a++. The operand must be an lvalue and may be of any of scalar type for the any operator, array name only when subscripted is an lvalue. Simply array name is a non-modifiable lvalue.


3)
Answer:
111
222
333
344
Explanation:
Let us consider the array and the two pointers with some address
a
01234
100 102 104 106 108
p
100 102 104 106 108
1000 1002 1004 1006 1008
ptr
1000
2000
After execution of the instruction ptr++ value in ptr becomes 1002, if scaling factor for integer is 2 bytes. Now ptr – p is value in ptr – starting location of array p, (1002 – 1000) / (scaling factor) = 1, *ptr – a = value at address pointed by ptr – starting value of array a, 1002 has a value 102 so the value is (102 – 100)/(scaling factor) = 1, **ptr is the value stored in the location pointed by the pointer of ptr = value pointed by value pointed by 1002 = value pointed by 102 = 1. Hence the output of the firs printf is 1, 1, 1.
After execution of *ptr++ increments value of the value in ptr by scaling factor, so it becomes1004. Hence, the outputs for the second printf are ptr – p = 2, *ptr – a = 2, **ptr = 2. 
After execution of *++ptr increments value of the value in ptr by scaling factor, so it becomes1004. Hence, the outputs for the third printf are ptr – p = 3, *ptr – a = 3, **ptr = 3. 
After execution of ++*ptr value in ptr remains the same, the value pointed by the value is incremented by the scaling factor. So the value in array p at location 1006 changes from 106 10 108,. Hence, the outputs for the fourth printf are ptr – p = 1006 – 1000 = 3, *ptr – a = 108 – 100 = 4, **ptr = 4. 


4)Explanation:
Here we have only one pointer to type char and since we take input in the same pointer thus we keep writing over in the same location, each time shifting the pointer value by 1. Suppose the inputs are MOUSE, TRACK and VIRTUAL. Then for the first input suppose the pointer starts at location 100 then the input one is stored as
MOUSE\0
When the second input is given the pointer is incremented as j value becomes 1, so the input is filled in memory starting from 101.
MTRACK\0
The third input starts filling from the location 102
MTVIRTUAL&nb sp;\0
This is the final value stored .
The first printf prints the values at the position q, q+1 and q+2 = M T V
The second printf prints three strings starting from locations q, q+1, q+2
i.e MTVIRTUAL, TVIRTUAL and VIRTUAL.

5)
Answer:
g20fy
Explanation:
Since a void pointer is used it can be type casted to any other type pointer. vp = &ch stores address of char ch and the next statement prints the value stored in vp after type casting it to the proper data type pointer. the output is ‘g’. Similarly the output from second printf is ‘20’. The third printf statement type casts it to print the string from the 4th value hence the output is ‘fy’.


6)Answer:
ck
Explanation:
In this problem we have an array of char pointers pointing to start of 4 strings. Then we have ptr which is a pointer to a pointer of type char and a variable p which is a pointer to a pointer to a pointer of type char. p hold the initial value of ptr, i.e. p = s+3. The next statement increment value in p by 1 , thus now value of p = s+2. In the printf statement the expression is evaluated *++p causes gets value s+1 then the pre decrement is executed and we get s+1 – 1 = s . the indirection operator now gets the value from the array of s and adds 3 to the starting address. The string is printed starting from this position. Thus, the output is ‘ck’.
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Find the output of the following
1) main()
{
char c=' ',x,convert(z);
getc(c);
if((c>='a') && (c<='z'))
x=convert(c);
printf("%c",x);
}
convert(z)
{
return z-32;
}





2) main(int argc, char **argv)
{
printf("enter the character");
getchar();
sum(argv[1],argv[2]);
}
sum(num1,num2)
int num1,num2;
{
return num1+num2;
}





3) # include <stdio.h>
int one_d[]={1,2,3};
main()
{
int *ptr; 
ptr=one_d;
ptr+=3;
printf("%d",*ptr);
}





4) # include<stdio.h>
aaa() {
printf("hi");
}
bbb(){
printf("hello");
}
ccc(){
printf("bye");
}
main()
{
int (*ptr[3])();
ptr[0]=aaa;
ptr[1]=bbb;
ptr[2]=ccc;
ptr[2]();
}





5) #include<stdio.h>
main()
{
FILE *ptr;
char i;
ptr=fopen("zzz.c","r");
while((i=fgetch(ptr))!=EOF)
printf("%c",i);
}



NOTE * please do not copy & paste answers from other site. It leads to banning of your user name
1)Answer: 
Compiler error
Explanation:
declaration of convert and format of getc() are wrong. 


2)Answer:
Compiler error.
Explanation:
argv[1] & argv[2] are strings. They are passed to the function sum without converting it to integer values. 


3)Answer:
garbage value
Explanation:
ptr pointer is pointing to out of the array range of one_d.


4)Answer:
bye 
Explanation:
ptr is array of pointers to functions of return type int.ptr[0] is assigned to address of the function aaa. Similarly ptr[1] and ptr[2] for bbb and ccc respectively. ptr[2]() is in effect of writing ccc(), since ptr[2] points to ccc.


5)Answer:
contents of zzz.c followed by an infinite loop 
Explanation:
The condition is checked against EOF, it should be checked against NULL.

	
	c contests 4 

« on: September 06, 2006, 08:01:20 PM »
	




FOR MORE & MORE TECHNICAL INTERVIEW QUESTIONS …, Join Our Group now
http://finance.groups.yahoo.com/group/careerenclave/

Find the output for the following

1) main()
{
int k=1;
printf("%d==1 is ""%s",k,k==1?"TRUE":"FALSE");
}

2) main()
{
int y;
scanf("%d",&y); // input given is 2000
if( (y%4==0 && y%100 != 0) || y%100 == 0 )
printf("%d is a leap year");
else
printf("%d is not a leap year");
}

3) #define max 5
#define int arr1[max]
main()
{
typedef char arr2[max];
arr1 list={0,1,2,3,4};
arr2 name="name";
printf("%d %s",list[0],name);
}

4) int i=10;
main()
{
extern int i;
{
int i=20;
{
const volatile unsigned i=30;
printf("%d",i);
}
printf("%d",i);
}
printf("%d",i);
}

5) main()
{
int *j;
{
int i=10;
j=&i;
}
printf("%d",*j);
}

6) main()
{
int i=-1;
-i;
printf("i = %d, -i = %d \n",i,-i);
}
NOTE * please do not copy & paste answers from other site. It leads to banning of your user name


1)Answer:[/i]
[/i]1==1 is TRUE
Explanation:[/i]
[/i]When two strings are placed together (or separated by white-space) they are concatenated (this is called as "stringization" operation). So the string is as if it is given as "%d==1 is %s". The conditional operator( ?: ) evaluates to "TRUE".


2)Answer:[/i]
[/i]2000 is a leap year
Explanation:[/i]
[/i]An ordinary program to check if leap year or not.

[/i]
[/i]
3)Answer:[/i]
[/i]Compiler error (in the line arr1 list = {0,1,2,3,4})
Explanation:[/i]
[/i]arr2 is declared of type array of size 5 of characters. So it can be used to declare the variable name of the type arr2. But it is not the case of arr1. Hence an error.
Rule of Thumb: 
#defines are used for textual replacement whereas typedefs are used for declaring new types.


4)Answer:[/i]
[/i]30,20,10
Explanation:[/i]
[/i]'{' introduces new block and thus new scope. In the innermost block i is declared as, 
const volatile unsigned
which is a valid declaration. i is assumed of type int. So printf prints 30. In the next block, i has value 20 and so printf prints 20. In the outermost block, i is declared as extern, so no storage space is allocated for it. After compilation is over the linker resolves it to global variable i (since it is the only variable visible there). So it prints i's value as 10.


5)Answer:[/i]
[/i]10
Explanation[/i]:
The variable i is a block level variable and the visibility is inside that block only. But the lifetime of i is lifetime of the function so it lives upto the exit of main function. Since the i is still allocated space, *j prints the value stored in i since j points i.


6)Answer:[/i]
[/i]i = -1, -i = 1
Explanation:[/i]
[/i]-i is executed and this execution doesn't affect the value of i. In printf first you just print the value of i. After that the value of the expression -i = -(-1) is printed.
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Find the Out put of the following 

1) void pascal f(int i,int j,int k)
{ 
printf(“%d %d %d”,i, j, k); 
}
void cdecl f(int i,int j,int k)
{ 
printf(“%d %d %d”,i, j, k); 
}
main()
{
int i=10;
f(i++,i++,i++);
printf(" %d\n",i);
i=10;
f(i++,i++,i++);
printf(" %d",i);
}






2). What is the output of the program given below
main()
{
signed char i=0;
for(;i>=0;i++) ;
printf("%d\n",i);
} 

3) main()
{
unsigned char i=0;
for(;i>=0;i++);
printf("%d\n",i);
}

4) main()
{
char i=0;
for(;i>=0;i++) ;
printf("%d\n",i); 
}

5)Is the following statement a declaration/definition. Find what does it mean?
int (*x)[10];





NOTE * please do not copy & paste answers from other site. It leads to banning of your user name
1)Answer:[/i]
10 11 12 13
12 11 10 13
Explanation:[/i]
Pascal argument passing mechanism forces the arguments to be called from left to right. cdecl is the normal C argument passing mechanism where the arguments are passed from right to left.

2)Answer:[/i] -128
Explanation[/i]
Notice the semicolon at the end of the for loop. THe initial value of the i is set to 0. The inner loop executes to increment the value from 0 to 127 (the positive range of char) and then it rotates to the negative value of -128. The condition in the for loop fails and so comes out of the for loop. It prints the current value of i that is -128.
3)Answer[/i]
infinite loop
Explanation[/i]
The difference between the previous question and this one is that the char is declared to be unsigned. So the i++ can never yield negative value and i>=0 never becomes false so that it can come out of the for loop.

4)Answer:[/i]Behavior is implementation dependent.
Explanation:[/i]
The detail if the char is signed/unsigned by default is implementation dependent. If the implementation treats the char to be signed by default the program will print –128 and terminate. On the other hand if it considers char to be unsigned by default, it goes to infinite loop.
Rule:You can write programs that have implementation dependent behavior. But dont write programs that depend on such behavior.

5)Answer[/i]
Definition.
x is a pointer to array of(size 10) integers.
Apply clock-wise rule to find the meaning of this definition.
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Answer the follwoing

1)What is the difference between declaring a variable and defining a variable?


2)Is it better to use malloc() or calloc()?


3)How can type-insensitive macros be created?


4)Can the size of an array be declared at runtime?



Find the out putfor the following 
1)main(){
static int var = 5;
printf("%d ",var--);
if(var)
main();
}

2)main(){
int c[ ]={2.8,3.4,4,6.7,5};
int j,*p=c,*q=c;
for(j=0;j<5;j++) 
{
printf(" %d ",*c);
++q; 
}
for(j=0;j<5;j++)
{
printf(" %d ",*p);
++p; 
}}

3)main()
{
int i=-1,j=-1,k=0,l=2,m;
m=i++&&j++&&k++||l++;
printf("%d %d %d %d %d",i,j,k,l,m);


}
4)main()
{
char *p;
printf("%d %d ",sizeof(*p),sizeof(p));
}
5)main()
{
printf("%x",-1<<4);
}

NOTE * please do not copy & paste answers from other site. It leads to banning of your user name
1)Answer:
5 4 3 2 1
Explanation:
When static storage class is given, it is initialized once. The change in the value of a static variable is retained even between the function calls. Main is also treated like any other ordinary function, which can be called recursively. 
2)Answer:
2 2 2 2 2 2 3 4 6 5
Explanation: 
Initially pointer c is assigned to both p and q. In the first loop, since only q is incremented and not c , the value 2 will be printed 5 times. In second loop p itself is incremented. So the values 2 3 4 6 5 will be printed. 
3)Answer:
0 0 1 3 1
Explanation :
Logical operations always give a result of 1 or 0 . And also the logical AND (&&) operator has higher priority over the logical OR (||) operator. So the expression ‘i++ && j++ && k++’ is executed first. The result of this expression is 0 (-1 && -1 && 0 = 0). Now the expression is 0 || 2 which evaluates to 1 (because OR operator always gives 1 except for ‘0 || 0’ combination- for which it gives 0). So the value of m is 1. The values of other variables are also incremented by 1.
4)Answer: 
1 2
Explanation:
The sizeof() operator gives the number of bytes taken by its operand. P is a character pointer, which needs one byte for storing its value (a character). Hence sizeof(*p) gives a value of 1. Since it needs two bytes to store the address of the character pointer sizeof(p) gives 2.
5)Answer: 
fff0
Explanation :
-1 is internally represented as all 1's. When left shifted four times the least significant 4 bits are filled with 0's.The %x format specifier specifies that the integer value be printed as a hexadecimal value.


C Contest-42

Answer the following

1.Consider the following program
main()
{
int a[5]={1,3,6,7,0};
int *b;
b=&a[2];
}
The value of b[-1] is
(a) 1 (b) 3 (c) -6 (d) none


2. # define prod(a,b)=a*b
main()
{
int x=2;
int y=3; 
printf("%d",prod(x+2,y-10)); 
}
the output of the program is 
(a) 8 (b) 6 (c) 7 (d) None


3.Consider the following program segment
int n,sum=1;
switch(n)
{
case 2:sum=sum+2;
case 3:sum*=2;
break;
default:sum=0;
}
If n=2, what is the value of sum
(a) 0 (b) 6 (c) 3 (d) None of these


4. Identify the incorrect one
1.if(c=1)
2.if(c!=3)
3.if(a 4.if(c==1)
(a) 1 only (b) 1&3 (c) 3 only (d) All of the above
 
__________________
\"Winners don\'t do different things.They do things Differently\"

